

01/20/2021

Page 1 of 1

 Letting:
 03201217
 December 17, 2020 02:00
 Call Order: 011

PM

Contract:

E3U28

District: District 3

Counties: OKALOOSA, SANTA

Fed Aid No: N/A

45

45 CALENDAR DAYS

ROSA

Project(s): 42214227298 (*)

Contract Time: Contract Desc:

MILTON MAINTENANCE - OUTFALL DITCH RESTORE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Winning bid	\$459,346.75	100.00%
2	ROADS, INC. OF NWF	Responsive	Non-Winning Bid	\$465,781.80	101.40%
3	OLYMPUS PAINTING CONTRACTORS, INC.	Responsive	Non-Winning Bid	\$556,775.00	121.21%
4	M & J CONSTRUCTION COMPANY OF PINELLAS COUNTY, INC.	Responsive	Non-Winning Bid	\$643,151.90	140.01%
5	CHAVERS CONSTRUCTION INC	Responsive	Non-Winning Bid	\$783,840.00	170.64%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY





Tabulation of Bids

Page 1 of 3

Letting:03201217December 17, 2020Call Order:011Contract:E3U28District:District 3Counties:OKALOOSAFed Aid No: N/A

Contract Time: 45 CALENDAR DAYS

SANTA

Project(s): 42214227298 (*)

Contract Descr: MILTON MAINTENANCE - OUTFALL DITCH RESTORE ROSA

The work under this Site-Specific Contract consist of grading, shaping, installing ditch liner, bedding stone and rip rap rubble ditch lining at SR 30 (US 98) mile post 15.923 in Navarre, FL. This work will restore the outfall ditch which begins at SR 30 (US 98) and extends approximately 1750 to the south, connecting to the existing ditch pavement. The outfall ditch is approximately 14 feet wide. Mobilization and Maintenance of Traffic shall be incidental to the pay items listed.

Line No / Item ID All Item Description	ternate Quantity Units	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(2) ROADS, INC. OF NWF		(3) OLYMPUS PAINTING CONTRACTORS, INC.	
() indicates item is bid as Lum	p Sum	Unit Price	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SODDING (SY	•					
0005 0120 2 2 BORROW EXCAVATION, TRU MEASURE	500.000 JCK CY	38.61000	19,305.00	40.59000	20,295.00	40.00000	20,000.00
0015 E575 1 SODDING	1,945.000 SY	9.61000	18,691.45	4.08000	7,935.60	15.00000	29,175.00
0020 0530 3 4 RIPRAP, RUBBLE, F&I, DITCH	4,230.000 H LINING TN	99.61000	421,350.30	103.44000	437,551.20	120.00000	507,600.00
0001 SODDING	(SY) Section Totals:	l	\$459,346.75	l	\$465,781.80	I	\$556,775.00
Contr	act Grand Totals:		\$459,346.75		\$465,781.80		556,775.00





Tabulation of Bids

Page 2 of 3

Letting:	03201217	December 17, 2	2020 Cal	I Order: 011		Contract:	E3U28	
	Line No / Item ID Alternate Quantity Item Description Units		(4) M & J CONSTRUCTION COMPANY OF PINELLAS		(5) CHAVERS CONSTRUCTION INC			
() indicates i	tem is bid as Lump Sum	1	COUNTY Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(SODDING (SY						
0005 0120 BORROW EXC MEASURE	2 2 CAVATION, TRUCK	500.000 CY	40.41000	20,205.00	30.00000	15,000.00		
0015 E575 SODDING	1	1,945.000 SY	6.50000	12,642.50	6.00000	11,670.00		
0020 0530 RIPRAP, RUBI	3 4 BLE, F&I, DITCH LIN	4,230.000 ING TN	144.28000	610,304.40	179.00000	757,170.00		
0001 SODDING (SY) Section Totals:				\$643,151.90		\$783,840.00		
	Contract (Grand Totals:		\$643,151.90		\$783,840.00		



01/20/2021

Tabulation of Bids

Page 3 of 3

Letting: 03201217 December 17, 2020

Call Order: 011

Contract:

E3U28

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.